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STRAIGHT LINES

1. The equation of straight line passing through

2
(3,5) and slope 3 is:

A. 2x-3y+9=0


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_d1SrfcTHron1

B. 2x-3y-5=0

C. 3x-2y+5=0

D. 3x-2y-5=0

Answer:

o Watch Video Solution

2.The slope of the line passing through the points

(3,-2) and (-1,4) is:

>
w|ln | w


https://dl.doubtnut.com/l/_d1SrfcTHron1
https://dl.doubtnut.com/l/_1QdPFnk21GLv

C.——
2
5 2
3
Answer:

° Watch Video Solution

3. The slope of the line joining points (-4,5) and
(0,7) is
A 1
"2
B. 2

C.0


https://dl.doubtnut.com/l/_1QdPFnk21GLv
https://dl.doubtnut.com/l/_vRb8JKhSKrWQ

Answer:

° Watch Video Solution

4.The length of perpendiuclar from (0,0) to the line

3x+4y=15 is:

A.15

B.3

C.4


https://dl.doubtnut.com/l/_vRb8JKhSKrWQ
https://dl.doubtnut.com/l/_LFgwEeiiXb4z

Answer:

° Watch Video Solution

5. If the points A(z1, y1), B(xs, y2) and C(z3, y3)

are collinear, then area of triangle ABC is:

A.O
B.1
C.-1

D. none of these

Answer:



https://dl.doubtnut.com/l/_LFgwEeiiXb4z
https://dl.doubtnut.com/l/_xmaA8iaA7dy9

‘ ° Watch Video Solution

6. The equation of line which makes equal
intercepts on axis and passes through the point
(2,3) is:

A. x+y=5

B. x-y=5

C. x-y+5=0

D. x+y+5=0

Answer:

‘ ° Watch Video Solution


https://dl.doubtnut.com/l/_xmaA8iaA7dy9
https://dl.doubtnut.com/l/_PoVxBQ61paMm

7. Distance of the point (-1,1) form the line 12x-

5y+82=0 is:

A 4

B.5

C.8

D.6

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_PoVxBQ61paMm
https://dl.doubtnut.com/l/_d81hZN83z0Fn
https://dl.doubtnut.com/l/_bDr5AKV6XC4q

8. The point on the axis of y which its equidistant

from (-1, 2) and (3, 4), is

A. (0,5)

B. (5,0)

C. (-5,0)

D. none of these

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_bDr5AKV6XC4q

9. The slope of line which cuts off intercepts of

equal lengths on the axis is:

B.1

C.2

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_vUuCbSCk2UQo

10. The ratio in which the line 3x+4y=-2 divides the

distance between the lines 3x+4y+5=0 and 3x+4y-

5=0 is:

A2:1

B.2:3

C.3:7

D. none of these

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_7SjWZQajCtCL
https://dl.doubtnut.com/l/_y5zwFRpXzUQG

11. The line segment joining the points (-3,-4) and

(1,-2) is divided by y-axis in the ratio:

Al1:3

B.2:3

C.3:7

D. none of these

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_y5zwFRpXzUQG

12. A line passes through the point (2,2) and is
perpendicular to the line 3z +y = 3, then its y -

intercept is

Wl Wk

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_REFLGdAcXWKM
https://dl.doubtnut.com/l/_RoPyh5C0LJTG

13. The line segment joining the points (1,2) and

(-2,1) is divided by the line 3x+4y=7 in the ratio:

A 4:9

B.9:4

C.2:3

D. none of these

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_RoPyh5C0LJTG

14. The two lines ax+by=c and

perpendicular if

A. ab'+a'b=0

B. aa'+b'b=0

C.ab+ab'=0

D. none of these

Answer:

axtb'y=c' are

° Watch Video Solution



https://dl.doubtnut.com/l/_dWOnwE4mYuzt

15. The equation of the line thruogh (1,-2) and

which makes equal intercepts on the axis are:

A. x+y-1=0

B. x-y-1=0

C. x+Y+1=0

D. none of these

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_f42C4fTFzTfi

16. The lines x+(k-1)y+1=0 and 2z + kzy —1=0are
at right angles if

A. k=1

B. kgt1

C. k=-1

D. none of these

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_hX469kqOb8Qs

17. The slope of line which cuts off intercepts of

equal lengths on the axis is:

C.0

D. none of these

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_eLvAZRP9pLmO

18. A point equidistant from the lines 4x+3y+10=0,

5x-12y+26=0 and 7x+24y-50=0 is:

A (1,1)

B. (0,0)

C. (0,1)

D. none of these

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_jSYlybve7hPg

19. The area of a triangle with vertices at (-4,-1), (1,2)

and (4,-3) is:

A 17

B.16

C.15

D. none of these

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_gsESCV9inhqg

20. If p be the length of the perpendicular from the

origin on the line z + LA 1, then
a b
A p? = a? + b
o 1 1
S )
11 1
C.?—E-l—?

D. none of these

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_yEGhpl0Pg8tt

21. The angle between the lines

andz +2y+3=20is

A.30°

B.60°

C.90°

D. none of these

Answer:

2c —y+3=0

° Watch Video Solution



https://dl.doubtnut.com/l/_lFZ67LJpnapw

22. The value of A for which the lines 3x+4y=5,

5x+4y=4 and Az + 4y = 6 meet at a point is:

A 2

B.1

C.3

D. none of these

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_pFPCAsZuFv66

23. The centroid of a triangle is (2,7) and two of its

vertices are (4,8) and (-2,6), then third vertex is:

A. (4,7)

B.(7,4)

C.(4,4)

D. none of these

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_l1HrsjpgLdln

24.The mid point of the line segment joining (2x,4)

and (-2,3y) is (1,2x+1), then value of x and y are:

A 2.2

B. 1,

C.3,-2

D. none of these

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_skXXfSQTqFIk

25. The value of x such that the points (8,]1),(x,-4)

and (2,-5) are collinear is:

A.O

B.3

C.5

D. none of these

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_SvKDjpWAzZpm

26. The points (3,2),(0,5),(-3,2) and (0,-1) are vertices

of:

A. a rectangle

B. a rhombus

C.a square

D. none of these

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_ofw2H9k64F2j

27. Two vertices of an equilateral triangle are (O, O)

and (0, 2,/3). Find the third vertex.

A (—2,v2)
B.(—3,+3)
C.(—3,v2)

D. none of these

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_e9vuMwqXFl4z

28. The lines x-y-6=0, 4x-3y-20=0 and 6x+5y+8=0 are:

A. perpendicular

B. concurrent

C. parallel

D. none of these

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_vdnXaudCb7Hb

29. The three striaght lines ax+by=c, bx+cy=a and

cx+ay=b are collinear if:

A. a+b-c=0

B. a-b+c=0

C. a+b+c=0

D. none of these

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_MWJ2yye0tyc2

30. Two sides of a square lie on the lines x+y-1=0

and x+y+2 then its area is:

AL
"9
9
B'E
11
5

D. none of these

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_rUMtltugzKH7

1. Find the equation of the line passing through the

point (-1,1) and (2,4).

° Watch Video Solution

2. Find slope of the line that makes angle

s

6

° Watch Video Solution

3.Find slope of the line that makes angle

7r
3 with the positive direction of x-axis.



https://dl.doubtnut.com/l/_w9lfHddc4CCz
https://dl.doubtnut.com/l/_eWcknoWKlPrx
https://dl.doubtnut.com/l/_sJ8EbzPNnFKg

| @ Watch Video Solution

4. Find the angle between x-axis and the line

joining the points (3,-1) and (4, -2).

o Watch Video Solution

5. A line passes through (z1, y1) and (hk). If slope

of the line is m, show that &k — y; = m(h — z;).

o Watch Video Solution



https://dl.doubtnut.com/l/_sJ8EbzPNnFKg
https://dl.doubtnut.com/l/_WAqLU6BVqF7R
https://dl.doubtnut.com/l/_Ff7wOMnZbP5M

6. Find the value of k for which the line
(k—3)z— (4—k)y+k —Tk+6=0.

(a) parallel to x-axis (b) parallel to y-axis.

° Watch Video Solution

7. Find the value of k for which the line
(k—3)z— (4—K)y+k>—Tk+6=0.

(a) parallel to x-axis (b) parallel to y-axis.

° Watch Video Solution



https://dl.doubtnut.com/l/_xN6wxUbrhplv
https://dl.doubtnut.com/l/_B3B5Lzuixlu2

8. Find the values of k for which the line
(k=3)z— (4—K)y+k*—Tk+6=0is

passing through the origin.

° Watch Video Solution

9. Find the equation of the straight line which is
parallel to the line 2x+3y-5=0 and has y-intercept

equal to -4.

° Watch Video Solution



https://dl.doubtnut.com/l/_0GhlnbdF4zd3
https://dl.doubtnut.com/l/_J8sQEAR5HJi5

10. Find the equation of the straight line which is
parallel to the line 2x-3y+7=0 and passes through

the point A(1,-2).

° Watch Video Solution

11. Find the equation of the line which satisfy the

given conditions. Passing through (1,1) and (5,4)

° Watch Video Solution



https://dl.doubtnut.com/l/_ISvFI4xruZ05
https://dl.doubtnut.com/l/_i5Jw660ONE6T

12. Find the equation of a line that passes through
the point (3,-2) and cuts off intecepts on the two
axes which are equal in magnitude and opposite in

sign.

° Watch Video Solution

13. Reduce the following equations into slope
intercept form and find their slopes and vy
intercepts.

2x+3y-7=0

° Watch Video Solution



https://dl.doubtnut.com/l/_5im3FAV33M1k
https://dl.doubtnut.com/l/_eoUVuk9GvpWp

14. Reduce the following equations into slope-
intercept form and find their slopes and the y-
intercepts.

x4+ Ty=20

° Watch Video Solution

15. Reduce the following equations into intercept
form and find their intercepts on the axes.

3r +2y—12 =0

o Watch Video Solution



https://dl.doubtnut.com/l/_QTCL5360glAD
https://dl.doubtnut.com/l/_yuoZqKAeXs6S
https://dl.doubtnut.com/l/_uJGO3We8W0e1

16. Reduce the following equations into intercept
form and find their intercepts on the axes:

7x-8y=6

° Watch Video Solution

17. Prove that the line through the point (z1, y;)
and parallel to the line Ax +By+C =0 is

A(x —x1) + Bly— 1) = 0.

o Watch Video Solution



https://dl.doubtnut.com/l/_uJGO3We8W0e1
https://dl.doubtnut.com/l/_6OfSJnD6d4CK

18. Find the equation of a line through the point

(-2,3) and parallel to the line 3x-4y+2=0.

° Watch Video Solution

19. Find the equation of the line through point

(5,-2) and perpendicular to line 2x+3y-7=0.

° Watch Video Solution

20.Find the equation of line perpendicular to x - 2y

+3=0 and passing through the point (3,-2) .



https://dl.doubtnut.com/l/_73ieBkWn7lDB
https://dl.doubtnut.com/l/_xKbgk1EajVgR
https://dl.doubtnut.com/l/_3NcduXGHSkBx

| P Watch Video Solution

21. Without using the pythagorus, show that the
points (4, 4), (3, 5) and (-1, -1) are the vertices of a

right angled triangle.

o Watch Video Solution

22. The slope of a line is double of the slope of
another line. If tangent of the angle between them

is 3 find the slopes of the line.

° Watch Video Solution



https://dl.doubtnut.com/l/_3NcduXGHSkBx
https://dl.doubtnut.com/l/_l1lWzT8PwFuo
https://dl.doubtnut.com/l/_Mau3eIc264w0

23. A line perpendicular to the line-segment joining
the points (1, 0) and (2, 3) divides it the ratio 1: n.

Find the equation of the line.

° Watch Video Solution

24. Find the equation of the line which satisfying
the given conditions:
passing through (2, 24/3) and inclined with the x-

axis at an angle of 75°.

o Watch Video Solution



https://dl.doubtnut.com/l/_QwXPItss5iWG
https://dl.doubtnut.com/l/_OvY5AFzKvJ3e
https://dl.doubtnut.com/l/_wdzU2DQ8xywr

25. Find the equation of the right bisector of the

line segment joining the points (3, 4) and (-1, 2).

° Watch Video Solution

26. Be using the concept of equation of a line prove
that the three points (3, 0), (-2, -2) and (8, 2) are

collinear.

° Watch Video Solution

27.The owner of a milk store finds that, he can sell

980 litres of milk each week at Rs. 14/litre and 1220


https://dl.doubtnut.com/l/_wdzU2DQ8xywr
https://dl.doubtnut.com/l/_WWzd5RUsUXrY
https://dl.doubtnut.com/l/_1FTwdkvoQ2vb

litres of milk each week at Rs.16/litre. Assuming
linear relationship between selling price and
demand, how many litres could he sell weekly at Rs.

17/litre?

o Watch Video Solution

28.Find the equations of the lines passing through
the point (2, 2) such that the sum of their

intercepts on the axes is 9.

o Watch Video Solution



https://dl.doubtnut.com/l/_1FTwdkvoQ2vb
https://dl.doubtnut.com/l/_i7PGeVln1rIo

29. P(a,b) is the mid-point of a line segment
between axes. Show that the equation of the line is

T
— 4+ = =2.
a,+b

° Watch Video Solution

30. Find the area of the triangle formed by the lines

y-x=0, x+y=0 and x-k=0.

° Watch Video Solution



https://dl.doubtnut.com/l/_UpuniQod22Ni
https://dl.doubtnut.com/l/_GhV0dOt7oyar

31.The line 2x-3y=4 is perpendicular bisector of the
line AB. If the coordinates of A are (-3,1). Fiind the

coordinates of B.

° Watch Video Solution

32. If the lines y=3x+ 1 and 2y =« + 3 are
equally inclined to the line y = max + 4, find the

value of m.

° Watch Video Solution



https://dl.doubtnut.com/l/_xLi1ii0lYBNH
https://dl.doubtnut.com/l/_xSL735f53qcZ

33. Find the coordinates of a point on the x-axis
whose distance from the line

3x-4y-2=0 is equal to 2.

° Watch Video Solution

34.If p and q are the lengths of perpendicular from
origin to the lines
xcosf — ysinf = kcos 20 and xsecd + ycosecd = k

respectively. Prove that p* + 4¢* = k.

o Watch Video Solution



https://dl.doubtnut.com/l/_41fHepcaRy92
https://dl.doubtnut.com/l/_AuLslniHVHbP
https://dl.doubtnut.com/l/_1ZfNJSdDRODs

35. Find the equation of the line through the
intersection of lines

3r +4y =7 and * — y + 2 = 0 and whose slope

is 5.

o Watch Video Solution

36. Find the equation of the line passing through
the intersection of the lines 2x+3y-4=0 and x-

5y+7=0 that has its x-intercept equal to -4.

° Watch Video Solution



https://dl.doubtnut.com/l/_1ZfNJSdDRODs
https://dl.doubtnut.com/l/_zBBeBgJjbT7j

37. Find the equation of the line passing through
the point of intersection of the lines
dr + Ty — 3 = 0,2z — 3y + 1 = 0 that has equal

intercepts on the axes.

° Watch Video Solution

38. Show that the equation of the line passing
through the point (acos3 6, a sin’® 9) and

perpendicular to the line

o Watch Video Solution



https://dl.doubtnut.com/l/_1Gbev6DTVyaV
https://dl.doubtnut.com/l/_gyEzzeYDQlg6
https://dl.doubtnut.com/l/_4N3tSkTv6XpF

39. A ray of light passes through the point (1, 2)
reflects on the x-axis at a point A and the reflected
ray passes through the point (5, 3). Find the

coordinates of A.

° Watch Video Solution



https://dl.doubtnut.com/l/_4N3tSkTv6XpF

